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The HR PMR in solid spherical single crystal specimens yield experimental Shielding Tensor parameters which are inclusive of the Bulk Susceptibility Contribution from the region outside the Lorentz Cavity. For the Induced Field Contribution from the Discrete induced Dipoles from the neighboring Lattice (points) Sites, [in the figure below the situation is modeled by separately drawing the Lorentz Cavity (for demagnetization effects) and the Lorentz Sphere where] the Discrete Summation using the equation for Shielding contribution from other lattice sites gives the part of total contribution [experimental]





It is the HR PMR shielding tensor measurements in single crystalline solids which establishes the significance of


this contributions from within Lorentz sphere
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